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Quiz Date: 24th March 2020

Directions (1-5): Study the following information carefully and answer the questions
given below.

There are eight persons namely A, B, C, D, E, F, G and H who all are sitting around a square
table facing towards the center. They all like different genres of movies i.e. horror, comedy,
action, animation, suspense, drama, sci-fi & historical but not necessarily in the same order.
Four of them are sitting at the corners and rest in the middle of the sides.

G does not like historical and action. C, who likes comedy sits 2nd to left of the one who
likes horrors. Three people sit between the one who likes horror and D, who likes
suspense. B does not like action genre movies. H sits immediate left of D. E, sits diagonally
opposite to G. The one who likes action sits diagonally opposite to the one who likes
animation. H does not like action. The one who likes sci-fi sits immediate left to the one
who likes comedy. A does not sit next to C and he does not like horror. The one who likes
drama sits 2nd to the left of D.

Q1. Who among the following sits diagonally opposite to the one who likes sci-fi.?
(a) The one who likes animation

(b) The one who likes suspense

(c) The one who likes comedy

(d) The one who likes historical

(e) None of these

Q2. If Four of the following five are alike in a certain way and thus form a group. Which is
the one that does not belong to that group?

(a) The one who likes comedy

(b) G

() F

(d) The one who likes historical

(e)H

Q3. Which among the following genres does A like?
(a) sci-fi

(b) drama

(c) comedy

(d) animation

(e) None of these

Q4. Who among the following pair represents those who are the immediate neighbors of B?
(a) The one who likes animation, the one who likes horror

(b) The one who likes suspense, the one who likes action

(c) The one who likes comedy, the one who likes suspense

(d) The one who likes historical, the one who likes comedy

(e) None of these
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Q5. If all of them are made to sit in an alphabetical order starting from A in clockwise
direction, then how many persons remain at their original positions (excluding A)?
(a) two
(b) No one
(c) one
(d) three
(e) four
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Directions (6-10): Study the following information to answer the given questions:
In a certain code,

“its all about for” is written as ‘N6R N1T Q1L I9S’

“among success necessary works” is written as ‘K23S J14Y Z19S N1G’

“who tells you the” is written as ‘U230 Q20S U20E N25U’

Q6. What is the code for ‘light’ in the given code language?
(a) vizv

(b) U12V

(c)T12v

(dyv1iz2T

(e)None of these

Q7.What is the code for ‘proximity’ in the given code language?
(a)u16T

(b)Y16T

(c)T16Y

(d)vieT

(e)None of these

Q8.What may be the possible code for ‘methods’ in the given code language?
(a) V13S

(b)u13s

(c) W13T

(d) T13S

(e)None of these

Q9.What may be the possible code for ‘fifth stifled’ in the given code language?
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(aQ)W6H Z7S
(b)X6H Z7S
(c)W6H W19D
(d) U6H Z7S
(e)None of these

Q10.What is the code for ‘Selection’ in the given code language?
(a) Z19N

(b) YION

(c) X19N

(d) Z19M

(e)None of these

Q11.In a certain code ANSWER is written as TOBSFX. How is STREAM written in that code?
(a) QSRNBF

(b) SUTNBF

(c) SUTFBN

(d) TUSNBF

(e) None of these

Q12. If the positions of the letters in the word ORGANISE are rearranged in such a way that
the position of the first and the second letter are interchanged, similarly the position of the
third and the fourth letters are interchanged and so on, from the left end then which of the
following will be the third from the right end after the rearrangement?

(a)N

(b)o

()R

(dA

(e) None of these

Directions (13-15): Read the following information carefully and answer the given
questions.

M, A, B, G, Y, and Z are six friends. Each of them has different height. Height of the tallest
person is 189 cm. A is taller than only B. Y is shorter than only two people. C is not the
tallest. M is neither taller than Z nor shorter than C. The difference between the height of
third shortest and the tallest person is 9. M is taller than Y.

Q13. How many persons are taller than C?
(a) Four

(b) Three

(c) Two

(d) One

(e) None of these

Q14. Which of the following statement is true if height of B is 176 cm?
(a) The difference between the height of C and B is 4 cm.
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(b) Height of Yis 155 cm.
(c) Height of Ais 154 cm.

(d) The difference between the height of Z and B is 10 cm.

(e) None is true

Q15. What could be the possible height of M?

(a) 182 cm
(b) 156 cm
(c) 170 cm
(d) 198 cm
(e) 159 cm

Solutions (1-5):
Sol.

H{animation)  Af{drama)
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Solutions (6-10):
Sol.
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Numerical value of first letter.

/

ITS — 1] 9 S

\

Last letter as it is.

Letter is obtained by taking the reverse of middle
letter of the word and after that add 2 in the the value
of the letter in the english alphabet.

(T, reverse=G (G=7+2=9(l))

S6. Ans.(d)
S7. Ans.(c)
S8. Ans.(b)
S9. Ans.(c)
S10. Ans.(a)

S11. Ans ( )

4-

+ +1 1 41414141 +1 41
Sol. TOBSFX SUTNBF

S12. Ans. (a)

Sol. The word is---ORGANISE

After the rearrangement--- ROAGINES
So, the letter third to the right is- N

$S13. Ans. (b)
Sol. (189 cm)Z>M>Y > (180 cm) C>A>B

S14. Ans. (a)

Sol. (189 cm)Z>M>Y>(180cm)C>A>B

Then, the difference between the heights of C and B is:
180-176 =4 cm.

S15. Ans. (a)
Sol. (189 cm)Z>M>Y>(180cm)C>A>B
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